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F 06 HOMEWORK #10

1.

R1 C2 L1 ig vg vo i1 v1
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2∠–40.4° mArms

R = 22 kΩ
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8 kΩ
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L
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v1(t)
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a) Find a symbolic expression for Vo(s) in terms of not more than R1, R2, L, C, and
constants.

b) Choose numerical values for R1 and L to make

€ 

v1(t) = vme
−αt cos(βt + ϕ)

where α = β = 100 rad/s and vm and ϕ are constants.

2.

R1 C2 L1 ig vg vo i1 v1

Ideal

zLΔ ⇒

b

a

N1 N2 L6 Ω

Given N1/N2 = 2 and ω = 100 rad/s, find a numerical value for L to make
zLΔ = 3 + j3 Ω.



3.

a

b

c C

R1 C2 L1 ig vg vo i1 v1

A

B

zline

zline

zline

zgΔ

zgΔ

zgΔ

zLΔ

zLΔ

zLΔ

Va'b'

Vb'c'

Vc'a'

Va'b' = 142∠0° V zgΔ = 24 + j33 Ω

Vb'c' = 142∠–120° V zline = j28 Ω

Vc'a' = 142∠120° V zLΔ = 3 + j3 Ω

Find the numerical value of the current, IbB.


